1960 GeV ppbar Top (parton level)
| I I | I I

= | | | | | | | | | I HL
L 15
1 M (ttbar) (pTtt < 50) ==
= 3=
—  —4— Pythia 8.308 default = :
1071 =~ —— Pythia 8.308 tune-A14-CTEQL1 =N
S Pythich¥4gg tune-A14-MSTW2008LO 3=
1072 b— Pyt 08 tu -NNPDF2.3LO .
= --~-- Pythja 8.3 e-CU =K
~ N 1=
107° = ="
107% - Mg Eln
— ““1 - é
105 b =
= 1 Ele!
— —qm
— i O
S . 2
10 © ! = X<
= 3%
C1 45
107 EFTE EE
— X H o
— . e
_ | -2
1078 =1 | =2
— | 32
-y HE
: | T T T | T T T | T T T | T T T |:
- 2F —2
8 - .
() : T —
© B ! ]
o0 | g
o LE & oael,etalY, _|
g : g o """'m‘”'"""‘Nhtu‘*".;*:."N#*‘“ﬁ:.:':h:.‘jﬂ‘:.‘.:"‘ ’.:Ez‘:":_z, ?’- St m; B
1 !
>
o - —
8 | ]
ke
2 B _
o :
05 =05
| = . | . . . | . . . | . . . |
200 400 600 800 1000



	Contents
	Page 1


